Monday 1st March
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Which /j"/r,a/C/t/t/om As Ahe qmeaizzsi?

ome /h/Q/l/f or ome A'.lj/l.L/CL/I"/tJQA"?

What is Ahe /s/q/m)o,o/{

/f,oxr ,q/r,e,a/t,e/r Ahan?

>

Aif Ats cnt Aimto b parts,
Ahe paris wild he

amailer tham Af its cud

into 2 paris.
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WhAich {A‘A/C/t/i,om A /q/r,e,a/t,e/si

a Ahird or a /h,Q/{/j"? How cam oM AedAd
which would he
,q/r,e,cut,e/r?

LS b
E.?

Which mwoudd he qxr»en/t»e/r, a Ahird /o/f 6 sweets or
hodf of 6 sweels?
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Which fraction is the largest? How Ad.o pveon RLOMW-?
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9 1 2 denomimnator and

homw mamay pAecers

each ome has heem
cnud An Ao, The more
pieces Ahere are, Ahe
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WAAL he.





image5.png
True or False?
What does Ahis meamn?

R,
O 7 6
1 -1

The denominators are Aihe same, so each fraciiomn
piece As Ahe same. How mamay ,0/{ each are Ahere?
The numerator Aelds us.

I/{ oM had 6 0{ Ahe sa/me /t/h/i/nq and Ahen 9 /o/f Ahe

AA/Me /t/h/i/n,q, which wouldld he q/r,e,cut,e/r?
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Jason has used a bar model to compare two fractions. Look camz{mix{q ai
-—'—'—'—\ Ahe ,d/ua,q/r,a/rms.
Are /t/+1,€/lé Adramwm
- a/c,cxu/r,a/t,e/{/té?

—

He says that one fifth is less than one eighth. g > -4
Is he correct? Explain your answer. NO

What shoudd /t/hf./lﬂ Aook Aike? I{[ oA AdAinide
/s/o/mz./t/h/i/nq Amio 5 ,eqlxu/a/{ /p,q/r/t/s and 8 ,e,q]/u/a/{ /p,qzr/t/s,
MWAAL Ahe /pﬂxr/t/s he Athe same size? Which wild he

,q/r,exut,e/r?




